NO NO.: 194	0								Р	rinted 2 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1940	FLT-CAR5	SUV	BRAKES HANGING UP	Fleet	06/25/2019	MAT	Parts	1.00	19.99	19.9
1940	FLT-CAR5	SUV	BRAKES HANGING UP	Fleet	06/25/2019	LAB	Employee	2.50	35.86	89.6

109.64

VO NO.: 194	1								P	rinted 3 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1941	FLT-274	Ambulance	CHECK ENGINE LIGHT ON	Fleet	06/25/2019	MAT	Parts	3.00	3.23	9.6
1941	FLT-274	Ambulance	CHECK ENGINE LIGHT ON	Fleet	06/25/2019	MAT	Parts	1.00	38.64	38.6
1941	FLT-274	Ambulance	CHECK ENGINE LIGHT ON	Fleet	06/25/2019	LAB	Employee	3.00	35.86	107.5

WO NO.: 194	2								F	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1942	FLT-LA15	Pick Up Truck	LEFT REAR TURN SIGNAL NOT WORKING	Fleet	06/24/2019	MAT	Parts	1.00	0.99	0.99

WO NO.: 194	2								F	Printed 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1942	FLT-LA15	Pick Up Truck	LEFT REAR TURN SIGNAL NOT WORKING	Fleet	06/24/2019	LAB	Employee	0.25	35.86	8.97

9.96

WO NO.: 1943	3								Р	rinted 3 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1943	FLT-LA18	Skid Steer Loader	oil leak	Fleet	06/24/2019	MAT	Parts	1.00	51.97	51.9
1943	FLT-LA18	Skid Steer Loader	oil leak	Fleet	06/24/2019	MAT	Parts	3.00	89.02	267.0
1943	FLT-LA18	Skid Steer Loader	oil leak	Fleet	06/24/2019	LAB	Employee	1.00	35.86	35.80

354.89

WO NO.: 194	1								P	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1944	FLT-LA84	P/U TRUCK	TURN SIGNAL OUT	Fleet	06/24/2019	MAT	Parts	1.00	0.99	0.99
1944	FLT-LA84	P/U TRUCK	TURN SIGNAL OUT	Fleet	06/24/2019	LAB	Employee	0.25	35.86	8.97

9.96

WO NO.: 1950

Printed 3 items

WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1950	FLT-CAR15	SUV	DOOR PANELS BROKE	Fleet	06/21/2019	MAT	Parts	1.00	502.01	502.01
1950	FLT-CAR15	SUV	DOOR PANELS BROKE	Fleet	06/21/2019	MAT	Parts	1.00	120.00	120.00
1950	FLT-CAR15	SUV	DOOR PANELS BROKE	Fleet	06/21/2019	LAB	Employee	1.00	35.86	35.86

657.87

WO NO.: 195	1								Р	rinted 6 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1951	FLT-LA27	Generator	Service	Fleet	06/21/2019	MAT	Parts	1.00	58.47	58.47
1951	FLT-LA27	Generator	Service	Fleet	06/21/2019	MAT	Parts	1.00	71.11	71.11
1951	FLT-LA27	Generator	Service	Fleet	06/21/2019	MAT	Parts	1.00	54.82	54.82
1951	FLT-LA27	Generator	Service	Fleet	06/21/2019	MAT	Parts	1.00	38.78	38.78
1951	FLT-LA27	Generator	Service	Fleet	06/21/2019	MAT	Parts	5.00	48.99	244.95
1951	FLT-LA27	Generator	Service	Fleet	06/21/2019	LAB	Employee	3.00	35.86	107.58

WO NO.: 195	5								F	rinted 3 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1955	FLT-LA23	Med Dump Truck	Tow/Haul Mode Not Working	Fleet	06/19/2019	MAT	Parts	1.00	37.42	37.42

WO NO.: 195	5								F	Printed 3 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1955	FLT-LA23	Med Dump Truck	Tow/Haul Mode Not Working	Fleet	06/19/2019	MAT	Parts	1.00	49.99	49.99
1955	FLT-LA23	Med Dump Truck	Tow/Haul Mode Not Working	Fleet	06/19/2019	LAB	Employee	2.00	35.86	71.72

159.13

WO NO.: 195	6								Р	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1956	FLT-CAR15	SUV	HEADLIGHT OUT AND TURN SIGNAL OUT	Fleet	06/19/2019	MAT	Parts	1.00	13.02	13.02
1956	FLT-CAR15	SUV	HEADLIGHT OUT AND TURN SIGNAL OUT	Fleet	06/19/2019	LAB	Employee	0.50	35.86	17.93

30.95

WO NO.: 195	7								P	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1957	FLT-PS2	SUV	STATE INSPECTION	Fleet	06/18/2019	MAT	Parts	2.00	123.43	246.86
1957	FLT-PS2	SUV	STATE INSPECTION	Fleet	06/18/2019	LAB	Employee	1.50	13.60	20.40

WO NO.: 195	3								F	Printed 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1953	FLT-PS1	SUV	HEADLIGHT OUT	Fleet	06/17/2019	MAT	Parts	1.00	2.99	2.99
1953	FLT-PS1	SUV	HEADLIGHT OUT	Fleet	06/17/2019	LAB	Employee	0.25	35.86	8.97

11.96

WO NO.: 1958	3								Р	rinted 6 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1958	FLT-274	Ambulance	Service	Fleet	06/17/2019	MAT	Parts	1.00	3.46	3.46
1958	FLT-274	Ambulance	Service	Fleet	06/17/2019	MAT	Parts	6.00	1.51	9.06
1958	FLT-274	Ambulance	Service	Fleet	06/17/2019	MAT	Parts	1.00	16.19	16.19
1958	FLT-274	Ambulance	Service	Fleet	06/17/2019	MAT	Parts	2.00	38.64	77.28
1958	FLT-274	Ambulance	Service	Fleet	06/17/2019	MAT	Parts	2.00	16.89	33.78
1958	FLT-274	Ambulance	Service	Fleet	06/17/2019	LAB	Employee	4.00	13.60	54.40

WO NO.: 1952	2								Р	rinted 7 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	MAT	Parts	1.00	3.46	3.46
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	MAT	Parts	6.00	1.51	9.06
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	MAT	Parts	1.00	69.63	69.63
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	MAT	Parts	1.00	107.70	107.70

WO NO.: 195	2								F	Printed 7 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	MAT	Parts	2.00	92.44	184.88
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	MAT	Parts	1.00	69.88	69.88
1952	FLT-LA84	P/U TRUCK	STATE INSPECTION/SERVICE	Fleet	06/14/2019	LAB	Employee	2.50	13.60	34.00

478.61

WO NO.: 195	9								P	Printed 1 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1959	FLT-CAR1	Police SUV	STATE INSPECTION	Fleet	06/13/2019	LAB	Employee	1.00	13.60	13.60

13.60

WO NO.: 196	C								F	Printed 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1960	FLT-LA12	Pick Up Truck	RIGHT REAR BRAKES HOT	Fleet	06/13/2019	MAT	Parts	1.00	68.88	68.88
1960	FLT-LA12	Pick Up Truck	RIGHT REAR BRAKES HOT	Fleet	06/13/2019	LAB	Employee	0.75	13.60	10.20

79.08

WO NO.: 1961 Printed 2 items

V	WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
	1961	FLT-LA33	Air Compressor	Service	Fleet	06/12/2019	MAT	Parts	3.00	1.51	4.53
	1961	FLT-LA33	Air Compressor	Service	Fleet	06/12/2019	LAB	Employee	1.00	35.86	35.86

40.39

NO NO.: 1962	2									rinted 3 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1962	FLT-LA34	Generator	Service	Fleet	06/12/2019	MAT	Parts	1.00	5.64	5.6
1962	FLT-LA34	Generator	Service	Fleet	06/12/2019	MAT	Parts	7.50	1.51	11.3
1962	FLT-LA34	Generator	Service	Fleet	06/12/2019	LAB	Employee	1.50	35.86	53.7

WO NO.: 1982	2								Pri	nted 19 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	27.92	27.92
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	45.00	1.51	67.95
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	28.99	28.99
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	15.09	15.09
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	10.67	10.67
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	69.02	69.02

WO NO.: 198	2								Pr	inted 19 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	32.95	32.9
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	215.17	215.1
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	42.87	42.8
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	42.48	42.4
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	23.25	23.2
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	29.71	29.7
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	4.00	21.10	84.4
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	4.00	11.55	46.2
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	92.61	92.6
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	1.00	465.78	465.7
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	4.00	0.95	3.8
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	MAT	Parts	2.00	14.25	28.5
1982	FLT-LA9	Large Dump Truck	SERVICE/REPAIR LEAKS	Fleet	06/12/2019	LAB	Employee	8.00	35.86	286.8

1614.24

WO NO.: 1954

Printed on 07/03/2019 02:17:47 PM

Printed 6 items

WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1954	FLT-CAR5	SUV	Service	Fleet	06/11/2019	MAT	Parts	1.00	4.42	4.42
1954	FLT-CAR5	SUV	Service	Fleet	06/11/2019	MAT	Parts	6.00	1.51	9.06
1954	FLT-CAR5	SUV	Service	Fleet	06/11/2019	MAT	Parts	1.00	38.19	38.19
1954	FLT-CAR5	SUV	Service	Fleet	06/11/2019	MAT	Parts	1.00	47.62	47.62
1954	FLT-CAR5	SUV	Service	Fleet	06/11/2019	MAT	Parts	2.00	53.98	107.96
1954	FLT-CAR5	SUV	Service	Fleet	06/11/2019	LAB	Employee	2.50	13.60	34.00

241.25

WO NO.: 196	3								P	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1963	FLT-LA14	Large Dump Truck	AIR LEAK AT REAR	Fleet	06/11/2019	MAT	Parts	1.00	156.90	156.90
1963	FLT-LA14	Large Dump Truck	AIR LEAK AT REAR	Fleet	06/11/2019	LAB	Employee	2.00	35.86	71.72

228.62

WO NO.: 196	WO NO.: 1964 Printed 1 items											
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost		
1964	FLT-CAR3	PoliceSUV	SEAT WILL NOT ADJUST	Fleet	06/11/2019							

WO NO.: 1968	3								F	Printed 3 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost

WO NO.: 196	8								F	Printed 3 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1968	FLT-CAR4	Police SUV	STATE INSPECTION/SERVICE	Fleet	06/11/2019	MAT	Parts	1.00	5.15	5.15
1968	FLT-CAR4	Police SUV	STATE INSPECTION/SERVICE	Fleet	06/11/2019	MAT	Parts	6.00	1.51	9.06
1968	FLT-CAR4	Police SUV	STATE INSPECTION/SERVICE	Fleet	06/11/2019	LAB	Employee	1.50	13.60	20.40

34.61

WO NO.: 1969	9								Ρ	rinted 3 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1969	FLT-LA13	Med Dump Truck	Service	Fleet	06/10/2019	MAT	Parts	1.00	3.46	3.46
1969	FLT-LA13	Med Dump Truck	Service	Fleet	06/10/2019	MAT	Parts	7.00	1.51	10.57
1969	FLT-LA13	Med Dump Truck	Service	Fleet	06/10/2019	LAB	Employee	2.50	13.60	34.00

VO NO.: 1970)								Р	rinted 4 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1970	FLT-LA68	Demo Saw	BELT BROKE	Fleet	06/10/2019	MAT	Parts	1.00	48.99	48.99
1970	FLT-LA68	Demo Saw	BELT BROKE	Fleet	06/10/2019	MAT	Parts	1.00	52.99	52.99
1970	FLT-LA68	Demo Saw	BELT BROKE	Fleet	06/10/2019	MAT	Parts	1.00	1.49	1.49
1970	FLT-LA68	Demo Saw	BELT BROKE	Fleet	06/10/2019	LAB	Employee	1.50	35.86	53.79
										157.26

WO NO.: 197	1								Р	rinted 2 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1971	FLT-LA136	ZERO TURN MOWER	ENGINE LOOSING POWER	Fleet	06/10/2019	MAT	Parts	1.00	15.73	15.73
1971	FLT-LA136	ZERO TURN MOWER	ENGINE LOOSING POWER	Fleet	06/10/2019	LAB	Employee	0.25	13.60	3.40

19.13

VO NO.: 1972	2								Р	rinted 2 item
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1972	FLT-LA185	Kombi System	STRING HEAD BROKE	Fleet	06/10/2019	MAT	Parts	1.00	22.99	22.9
1972	FLT-LA185	Kombi System	STRING HEAD BROKE	Fleet	06/10/2019	LAB	Employee	0.25	35.86	8.9

NO NO.: 197	5								Р	rinted 3 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1975	FLT-LA23	Med Dump Truck	BED UP LIGHT STAYS ON	Fleet	06/07/2019	MAT	Parts	1.00	43.08	43.08
1975	FLT-LA23	Med Dump Truck	BED UP LIGHT STAYS ON	Fleet	06/07/2019	MAT	Parts	1.00	7.95	7.95
1975	FLT-LA23	Med Dump Truck	BED UP LIGHT STAYS ON	Fleet	06/07/2019	LAB	Employee	2.00	13.60	27.20

WO NO.: 1975 Printed 3 item											
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost	
										78.23	

Printed 1 items WO NO.: 1976 WO No. Asset ID Asset Brief Division Completed Charge Category Qty Unitcost Extcost Description Description Date Туре 1976 FLT-LA23 06/07/2019 LAB 27.20 Med Dump STATE Fleet Employee 2.00 13.60 INSPECTION Truck

27.20

WO NO.: 197	3								Ρ	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1973	FLT-LA5	Large Dump Truck	A/C NOT WORKING	Fleet	06/06/2019	MAT	Parts	1.00	128.37	128.37
1973	FLT-LA5	Large Dump Truck	A/C NOT WORKING	Fleet	06/06/2019	LAB	Employee	2.50	35.86	89.65

218.02

WO NO.: 197	4								Р	rinted 2 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1974	FLT-LA122	Utility Vehicle	FLAT TIRE	Fleet	06/06/2019	MAT	Parts	1.00	20.58	20.58
1974	FLT-LA122	Utility Vehicle	FLAT TIRE	Fleet	06/06/2019	LAB	Employee	1.00	35.86	35.8

WO NO.: 1977	Printed 2 items
--------------	-----------------

WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1977	FLT-CAR2	Police SUV	WILL NOT START	Fleet	06/05/2019	MAT	Parts	1.00	117.56	117.56
1977	FLT-CAR2	Police SUV	WILL NOT START	Fleet	06/05/2019	LAB	Employee	0.25	35.86	8.97

126.53

WO NO.: 1978 Printed 1 items											
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost	
1978	FLT-LA6	Wheel Loader	BUCKET PIN TIGHT	Fleet	06/04/2019	LAB	Employee	0.50	35.86	17.93	

17.93

WO NO.: 197	9								F	Printed 1 items
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1979	FLT-CAR8	Pick Up Truck	SPOT LIGHT LOOSE	Fleet	06/04/2019	LAB	Employee	0.50	35.86	17.93
										17.00

17.93

WO NO.: 1980 Printed 2 item										
WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1980	FLT-CAR12	Police SUV	FLAT TIRE	Fleet	06/04/2019	MAT	Parts	1.00	123.43	123.43
1980	FLT-CAR12	Police SUV	FLAT TIRE	Fleet	06/04/2019	LAB	Employee	0.25	45.71	11.43

NO.: 1981	Printed 13 items
-----------	------------------

WO No.	Asset ID	Asset Description	Brief Description	Division	Completed Date	Charge Type	Category	Qty	Unitcost	Extcost
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	25.82	25.82
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	24.00	1.51	36.24
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	27.92	27.92
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	33.96	33.96
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	33.73	33.73
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	8.63	8.63
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	2.00	8.07	16.14
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	9.87	9.87
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	14.73	14.73
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	3.05	3.05
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	2.00	99.95	199.90
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	MAT	Parts	1.00	55.03	55.03
1981	FLT-LA1A	Large Dump Truck	Service	Fleet	06/03/2019	LAB	Employee	5.00	13.60	68.00

533.02

6805.11

Printed 120 items

Printed on 07/03/2019 02:17:47 PM